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(1) A type of probability distribution that shows the probability of x successes in n trials, where the probability of success
remains the same from trial to trial, is referred to as a

A) hypergeometric probability distribution
B) uniform probability distribution
C) normal probability distribution
D)  binomial probability distribution

(2) The seasonal output of a new experimental strain of pepper plants was carefully weighed. The mean weight per plant is
15.0 pounds, and the standard deviation of the normally distributed weights is 1.75 pounds. Of the 200 plants in the
experiment, how many produced peppers weighing between 13 and 16 pounds?

A) 100
B) 118
C) 197
D) 53

(3) An analysis of the grades on the first test in Statistics revealed that they approximate a normal curve with a mean of 75
and a standard deviation of 8. The instructor wants to award the grade of A to the upper 10% of the test grades. To the
nearest percent, what is the dividing point between an A and a B grade?

A) 80
B) 85
c) 90
D) 95

(4) When dividing a population into subgroups so that a random sample from each subgroup can be collected, what type of
sampling is used?
A) Simple random sampling
B) Systematic sampling
) Stratified random sampling
D) Cluster sampling
(5) According to the central limit theorem,
A) sample size is important when the population is not normally distributed
B) increasing the sample size decreases the dispersion of the sampling distribution
C) the sampling distribution of the sample means is uniform
D) the sampling distribution of the sample means will be skewed
{6) What is the interpretation of 2 95% confidence level?
A) There's a 95% chance that the given interval includes the true value of the population parameter.
B) Approximately 95 out of 100 such intervals would include the true value of the population parameter.
<) There's a 5% chance that the given interval does not include the true value of the population parameter.
D) The interval contains 95% of all sample means.
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{7) The distribution of Student's ¢ has a mean
A) of zero and a standard deviation of one
B) of one and a standard deviation of one
C) of zero and a standard-deviation that depends on the sample size
D) that depends on the sample size and a standard deviation of one
(8) A survey of 25 grocery stores revealed that the mean price of a gallon of milk was $2.98, with a standard error of $0.10.
What is the 95% confidence interval to estimate the true cost of a gallon of milk?
A) $2.81 to $3.15 ‘
B) $2.94 to $3.02
C) $2.77 t0 $3.19
D) $2.95 t0 $3.01
(9) Define the level of significance.
A) It is the probability of a Type Il error.
B) It is the probability of a Type I error.
(03} It is a z-value of 1.96.
D) It is the beta error.
(10) Consider a two-tailed test with a level of significance of 0.01. The p'-value is determined to be 0.05; therefore, the null
hypothesis .
A) should not be rejected
B) must be rejected
C) may or may not be rejected depending on the square root of the sample size
D) is the same as the alternative hypothesis .
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Analysis of Variance
Source DF 55 VIS F P
{Regression { 21 J7.907| 38954 4.14 0.021
Residual Error 62| 583,683 9.414
Jotal . .54 6616
(1) BEstE(LETE#ERR (standard error of estimate) » ER{EEHEREZRMEELIH 95% B9 (residuals) &%
REVE{EZ I ? '

(2) FETBEHEGE (coefficient of multiple determination ) M fEREEREBENEZE -
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{ predictor Coefficlent [SE Coefficlent| ¢ p-value Y
4 Constant 84,998 1.863] 4562 0.000 ;
I 2301 1.200 1.99 0.05%
T % -0.409 0.172 -2.38 0.024
Anatysis of Variance .
1 Souree bF 55 MS F| pvalue
1. Regression 2 77.907) 38954 4.138! 0.021
Residual Error 62 583.683] 95414
LTotfaf 64 661.600 J

(1) FROERTTES -
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Z Table

z 0.00 001 0.02 0.03 0.04 0.08 006 0.07 Q.08 0.0%

Y 0.0900 0.0040 0.0080 00120 00160 0.6199 0.0233 VOIS 00319 00359
0.1 0.63%8 0,0438 00478 00517 0.6557 00596 0.0636 0.0675 00714 0,0753
02 0.0703 0.0832 9.0871 00810 00848 00987 61026 07064 01703 444
03 0.4179 1217 01255 06,1293 0,133t 0.1368 0.1406 0,1443 0.1480 6.1547
o4 0.1554 1561 0, 1628 0.1664 0.1700 01736 01372 0.1808 0.1844 0, 1878
a5 01916 8,1950 0.1985 02019 0.2054 0.20€8 Q2123 62167 0.2190 02224
0.6 02257 0.2291 0.2324 0.2357 0.2385 02422 02454 0.2436 02517 0.2648
4.7 0.3580 0.2691 b2642 92673 6.2704 0.2734 02764 0.2754 0.2823 0.2852
[1X:3 0.2881 0.2810 0.293% 02967 0.2995 0.3023 0.305% 03078 0.3106 jikkk<]
o | o0as 0.3488 0.3212 03238 oAzt 0280 GANS 03340 03 03uel
10 03413 03I 03451 0.3485 03508 035N 03554  D3ETT 03509 035
11 2543 03665 03686 03708 03728 0379 0T 030 GG 0380
1.2 0.3849 0.3868 0.3888 03807 0.3925 03544 0.2362 0.3980 0.3997 0405
13 1 a8 04145 04086 04082 64095 04188 B.at31 BA?  GdT2 041V
14 0.4192 04207 0.4222 04235 04251 0.426% GARTS 0.4282 Q4306 $.4319
15 84332 0.4345 04387 04319 04382 04334 04406 0.4418 04423 J.4444
16 | oam 0.4463 0.4474 0.4484 04495 04505  G4S15  0AS26 04535 04545
12 0.4564 04568 04573 0As83 0.4591 04552 OASDE  DAGIE 046 G4BT
14 04641 04548 04656 04GE4 64571 04678 0AEBS  DAGOS 046D 0.4706
13 04712 GATS  0ATIE 0471 0ATIE  OATA4 BATSO  DATEG  OATEY 04767
20 | o4 GATIE  047E3 04788 64793 04758 0403 04808 04812 GABN
21 04821 0dBZ6 04830 04834 04838 04842 04845 04850 04854 04857
22 0.4861 0.4864 04858 OASTS 04875 04T OudBg 04886 04887 0.4B0
23 0.4853 04896 04838 0AS0Y 04906 04305 04303 0494 04013 04916
24 0.4918 04920 0402 04926 04927 04929 0.4931 04932 04S34  0.40%
25 04038 04940 odpdt 04913 DA 03545 DABAE  DASSM 0485 DAI5:
25 0.4953 0.495% f5.4955 0.4957 4955 04560 D496 6.4552 84563 0.4564
bA 0.4965 0.45%66 g4387 04968 n4564 0.4870 64874 D.4872 0.4973 f4674
28 0,497 D.4575 04976 04577 04917 04978 04879 0ASTD 04960 04081
24 0.4981% 0.4982 0.4982 04983 04584 0.4984 (h498% D.4085 0.4986 04886
30 04387 04987 0.4987 04088 f4988 0.4889 0.438% 0.4989 0.4950 0.4990

T Distribution Table

636.578

31.6

12.924

B8.61






